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Sfull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions as directed :
1x10=10

weTe Al eMIrIee o SR el fam 8

(@ When was ‘Make in India’ concept
launched ?

oA ‘o = eI’ gRe IS T el e

(p) Which policy of the government has
moved India towards globalization ?

PIFIE RIS SiTes Ruimae e wewiR
fRme
Contd.



(c) “Management is what a Manager does” | () Goods are produced in anticipation of

the statement was given by F.W. Taylor 4
(Write True or False) HATEE TS Tesivd I

R R 708 GrATR ARG Refudran ) Demand
oS G ER o : - ot
| (ot@ 7 woT ) (i) Supply
(d) Wthh function of management is . QN !
considered as the base of all other '
functions ? v _ (iij) Market
ARGITRIR (I PR T T IR AT | - TER )
f2oitat sy =t =@ e | " (iv) None of the above
() The person who recognizes the need T GART «BrS T .
for the product is known as- (90 ____ is common in all types of
Rom e ATk aremiTe fae 36 | business.
(ST Tl TA— L R ROR TS AT O IR
(i) Entrepreneur (), Market
i | S
(ij) Businessman ' (i) Supply
SIRL e ' : Rigig
(iii) Enterprise ‘ (iii) Risk
gl - Retpict
(iv) None of the above (iv) None of the above
8T (FIAIO! T @9FT BI8 T
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(h) Managers are directly accountable to - 2. Answer the following questions: 2x5=10
society for the profit.

(IVriée True or False) - NRIeRIsT vy Tew far e
TSI 71357 o] A TIER afS (oiiRe{biis (@) What is Communication ?
: & T o, : - :
UL (eca 7 2NN Qi 3P R g
() Business and society are mutually _ ) ’ .
dependent. (Write True or False) (b) What is service sector ?
TP e ANE ATRS O WSea | ORI de M e
(% 7 ST [73) c) Define Partnership Business.
() An institution organised and operated
to provide goods and services to society RN A et |
under the incentive private gamnis ___. (d) Define human resource management.
oIS e T SRS INGS AT
, R 35 ARGl e fa
Rl A 3R AR AAS R AifRpifere @ N
AV TT— (e) What is perishable goods ?
i) Business TR AT 2
Skl 3. Write short answers to any four of the
(i) Organisation ' following: 5x4=20
9 . R [l bifeb19 5 e o o
(ifi) Service (a) Discuss various steps for making “Make
& in India” a success.
(iv) None of the above ‘7 o e’ T IR AR Riew smrwoR
89T OIS TZY R weEs 3:401
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(p) Discuss various market forces affecting

franchising companies.

ariERre @i e w1 RiEw TR
ey Reca Sete A1

(c) Write characteristics of a:good plan.
G O SRR RREPER F

(d) Describe various barriers to

communication.
A Rfed RRFFOIRA I T |

(e) What are the different stages of product

life cycle ? Explain.

7 G vae Rfew sifren B fe

|
() Describe the problems of small-scale

industries of India.

WWWﬁwwaﬁﬁ@wn
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4. - Write long answers to any four of the
following : 10x4=40

e’ [z bifbre I el o ¢

(@) What is busmess? What steps have to
be taken in social responsibility of

business in developing an organisation ?
3+7=10

T e OBl SRaNE RN @ T
A MRREere & & Amwsl 7w
SICEAT 3 | |
(b)) What is a MNC ? Explain are the merits
and demerits of MNCs. 2+4+4=10

Tmifes P e szaifor MR Rk @i
SRRUIAR el 34|

(c) What are the factors that influence the
choice of a business organisation ?
Discuss.

- RN RN GBI ST OIS T PRI
% ¢ wGEADT =

(d) Explain the principles of management
propounded by Henri Fayol.

@R T 2 3 ARG SR S
el
4 (Sem-1/CBCS) BOM/G 7 . Contd.



(e)

(9)

(h)

What is partnership deed ? Explain the

procedure of registration of a

partnership firm. 3+7=10
SeNWIS) P 6 2 SITmIST 4P «ﬂ%‘l oA
I AR I ]|

Define the term ‘Controlling’. Explain -
steps involved in controlling process.

e e IfeE [ gl e Rageeiw afemR
e wive e TP wCADA =41

What are the quéiities of a leader?
Explain about different types of leader.
4+6=10

T (TOR SAUGAITAR 52 SR e (Toed
R 3 =1

What is marketing mix? Discuss the

_elements of marketing mix. 3+7=10

FoTed e e [ote Feeg o @R
TG 39 |
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